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Definition

* In mathematics, a quadratic equation is a
polynomial equation of the second degree. The
general form is

ax> +bx+c=0

« where xrepresents a variable or an unknown,
and a, b, and c are constants with a # 0. (If
a =0, the equation is a linear equation.)

+ The constants a, b, and c are called
respectively, the quadratic coefficient, the linear
coefficient and the constant term or free term.
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Equation s it Explanation
Quadratic?
3x3-4x+5 No The firstterm is raised to the

3"9power. It mustbe raisedto
the 2" powerin orderto be

quadratic.

5x?—4x + 2 Yes This equationis in the correct
form: ax?+bx+c

7x?=49 Yes This equation can be rewritten

as: 7x>—49. In this equation,
bis0. BorccanbeO;
however, a cannotbe 0.
2x?=8x -3 Yes This equation can be rewritten
as 2x° — 8x + 3 which would
then be in the correct form of:
ax?+ bx +c.

Question 1:
(i) x2-x+3=0 is a quadratic polynomial.
". x2-x+3=0 is a quadratic equation.
(ii) 2x2+ 52x-V3=0
= 4x*+5x-2V3=0
Clearly is 4x?+5x-2v3=0 a quadratic polynomial.
.. 2x2+ 52x-\3=0 is a quadratic equation.
(iii) V2x2+7x+52=0 is a quadratic polynomial.
. \V2x%+7x+5V2=0 is a quadratic equation.

(iv)13x2+15x-2=0
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= 5x2+3x-2=0
Clearly, 5x2+3x-2=0 is a quadratic equation.
13x%+15 is a quadratic equation.

(v) x2-3x-Vx+4=0 is not a quadratic polynomial since it contains Vx, in which power 1/2 of
X is not an integer.

.". x2-3x-Vx+4=0 is not a quadratic equation.

(vi) x-6x=3

= x2-3x-6 =0

And (x>-3x-6)Being a polynomial of degree 2, it is a quadratic polynomial.
Hence, x-6x=3 is a quadratic equation.

(vii) x+2x= x?

= x3-x2-2 =0

And (x*-x2-2 =0) being a polynomial of degree 3, it is not a quadratic polynomial.
Hence, x+2x= x? is not a quadratic equation.

(viii) x2-1x2=5 = x* -1=5x>

=x4-5x2-1 =0

And (x*-5x2-1 =0) being a polynomial of degree 4.

Hence x2-1x2=5 is not a quadratic equation.

Question 2:

The given equation is 3x?+2x-1=0

(i) On substituting x = -1 in the equation, we get
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LHS = 3x (-1 +2x(-1)-1=3-2-1= 0=RHS

“x=-1is a sclution of 32 +2x-1=0

(ii) On substituting x=13 in the equation, we get

2
1 1 1 2
LHS=33<[§J +2x[§]—1=0=[§+§—1J=D=RHS

.-.><=%is a solution of 3 +2x-1=0

(iiif) On substituting x=-12 in the equation , we get

—1y? -1
LHS:BX{EJ +2x{5]—1=[]
=§—1+1¢D
4
» BHS = LHZ

><=_§1 is not a solution of 3x€+2x-1=0

Question 3:

Since x = 1 is a solution of x?+kx+3=0 it must satisfy the equation.

(1 +k(1)+3=0=k = -4

Hence the required value of k = -4
Question 4:

Since x=34 is a root of ax?*+bx-6=0, we have
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Again x = -2 being a root of ax*>+bx-6=0, we have

ax{—2}+b{—2]—6=l:l
da-2b =6
2a-b=3 - --(2)

Multiplying (2) by 4 adding the result from (1), we get
MMa=44=a=4
Puttinga=4in (1), we get

3x4+4b=32:‘>4b=32—12=b=2?f|=5

~a=4 and b=5

Question 5:
[3x-5){2x+3)=0 =3x-5=00r 2x+3=0
Sx=Zorx= 2
2

Hence, g,g are the roots of the equation {3x - 5)(2x+3)=0

Question 6:
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SxZ + dx = 0= %[5+ 4) = 0
=x=0or [Sx+4)=0

= x=0 or ><=ﬂ
5

Hence, O and ; are the roots of the equation 5x€ + 4x =0

Question 7:

3x2—243:~[]:~3(x2—81)=@

= ¥ =81=x=+81 =19
= x=9-9

Hence, 9 and -9 are the roots of the equation 3x2-243=0.
Question 8:

%2+ 12%+35=0= %"+ 7x+5x+35=0
= x[x+7)+5(x+7)=0

= {X+ 5]{><+?}=D

= x+5=0 or x+7=0

= x=-5 x=-7

Hence, -5 and -7 are the roots of x?>+12x+35=0.

Question 9:
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%% = 18x-77 =% - 18x+77 =0
= %% - 11x-Tx+77x=10
ix[x—ll]—?{x—11]=0
[x-11){x-7)=0
¥=—11=0or x-7=0
x=11or x=7

Hence, 11 and 7 are the roots of equation x?=18x-77

Question 10:

32+ 6x+1-0=(3x+1F =0

:>3><+1=D:>><=‘§1

Hence, x=—13 is the repeated root of the equation 9x*+6x+1=0

Question 11:

4x% -12x+9=0={2x-3)%= 0
=2x-3=0

3
x x >

Hence, is the repeated root of the equation

Question 12:
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ExZ+ 11x+3=0=6x7+ I +2x+ 3=0
:>3><{2><+ 3]+1{2x+3]=[:l

= {2x+3]x{3x+1]=[]

= 2%+ 3)=0 or [(3x+1)=0

X=—0F Xx=—
3

Hence, x=-32, x=—12are the roots of 6x?*+11x+3=0
Question 13:

Exf+ x—- 12 =268+ 9x-8x-12=0
= 3x[2x+3)-4(2x+3)=0
= [3x-4){2x+3)=0

= Su—-d=0 o Zx+3=0
x—& or x—ﬁ
3 2

Hence, x=43 and x=-32 are the roots of equation 6x?+x-12=0
Question 14:

3 - Ix-1=0= 3 —3x+1x-1=0
= 3(x-1)+1{x-1)=10

= {3)(—1:||::)(—1:|=U

= Jx+1=0 or x—-1=0

x=_—1 or x=1
3

Hence, x=—13 and 1 are the roots of the equation 3x?-2x-1=0.

Question 15:
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BxZ-%-2=0=6x"-dx+3x-2=0
= 2x[3x-2)+ 1{3x-2)=0

= [3x-2)2x+1)=0
=[3x-2)=0 or {2x+1)=0

x=2 or x-
3 2

Hence, x=23 and x=-12are the roots of equation 6x?-x-2=0.
Question 16:
4832 —13x-1=0= 48x° - 16x+ 3x-1=0

=16x(3x—1)+1{3x-1) =0
=% 16x+1=0 or (3x-1)=0

i
X=_—_ 0Oor X=_
15 3

Hence, x=—116 and x=23 are the roots of 48x3-13x-1=0.
Question 17:

FxZ + 11x+ 10=0=3x + 6x + 5x + 10=0
=>3><[><+ 2]+ 5[X+2]=D

= {3><+5]{><+2]=D

= [3x+5)=0 or {x+2)=0

><=—5 or w=-2

Hence, x=—53 and x=-2 are the roots of the equation 3x>+11x+10=0

Question 18:
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4x® -9y = 100 = 4x® - 9x - 100=0

= 4x? - 25x% + 16x - 100 =10

= x[4x - 25) + 4f{4x - 25)= 0

=  [4x-25){x+4)=0
[4x-25)=0 o [x+4)=0

25
= — = —4
X=—5 Oor X

Hence,x=254 and x=-4 are the roots of the equation 4x3-9x=100.
Question 19:

9% -22+8=0= 9" -18x-4x+8 =0
= Ox(x-2)-4(x-2)=0

= (m-4(x-21=0

=5 (9%-4)=0 or (x-2)=0

:n:=i or x=2
9

Hence, x=49 and 2 are the roots of the equation 9x2-22+8=0
Question 20:

15x% - 28 = x = 15 - x-28=0
= 15x% - 21x+ 20x -28=0

= 3x[Sx-7)+ 4[5x-7) =0

= [(Sx-7)[Ex+4)=0

= [(Sx-7)=0 o [3x+4)=0
x—z ar x—f
5 -3
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Question 21:
4-11x 3@ = 2" 4 11— 4 =0
= 3 12— x-4=0
= 3><|[><+4]—1{><+4]=D

= [3x-1){x+4)=0
= Jx-=1=0 or x+4=0

><=l or w=-4
3

Hence, x=13 and -4 are the roots of given equation .

Question 22:
XE—{1+\.§)><+«J'§=D:»xg—i.x—@x+~.u'§=f:]
=x[x-1)-2{x-1)=0
= {x—l](x—@)=[ﬁl
[x-1)=0 or % -2 =0
w=1 0o ><=~..'§

Hence, 1 and 2 are the roots of the given equation

Question 23:
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B v+ 63=0

here, B3x43=6x3=18 and 9x2-188 9+2= 11
Sl 63 0=2 3+ Oxa 204643 =0
:@{}H 3\J§)+2(x+3\§)=ﬂl

= [Bx +2)[x +34B) - 0

:>\.'§><+2=D or ><+3-¢§=D

N,
X=:§ o wasRE
@RS s
= Fx %

Hence, —2\6 and - 3@ are the roots of the given equation
3

Question 24:

Af352 15— 2B = 0=245% 18 -3x-23=0
:}4x(ﬁx+2)—~i§(¢§x+2)=[ﬁl
:>(~5><+2)(4><—«f§)=[]

= {~.|'§><+2)=Cl or (4><—-.J§)=D

NEEEPRE 4
X = — ﬁor ><=E
3 a

Hence, —2\6 and Earethemotsof:hegiven equation
3 '

Question 25:
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Bﬁx2+4x—ﬁ=ll]:}3~ﬁ><2+?><—3x—ﬁ=[]
:ﬁx{3x+ﬁ)—1(3x+ﬁ)=o
= [3x+ T )[Tx-1) -0
::>(3><+ﬁ)=£] ar (ﬁx—1)=D

1
3x = -7 O X = —
J7
><=£ ar X = Lx7 =£
T af7 7

Hence, -7+3 and 77 are the roots of given equation.
Question 26:

S —By—13.7 = T 13y 2Ty —13.7 =0
=y {7y -13)+ 47Ty -13) =0
={y+47)(fFy-13)=0

={y+47)=0 or (f7y-13)=0

Hence, -V7 and 1377 are the roots of given equation.

Question 27:

AJBxE - 13x - 26 = 0

= 4J6x - 16x + 3x-2J6 = 0
2><(J§><—2¢§)+ ﬁ(ﬁx—2@)= 0

= [\Bx - 22)[42x+ B) - 0

) g

C- eguatlons/
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Hence, 2613 and —-6+8are the roots of given equation.

Question 28:
S — % =18
S

— 5x® - 35 = 18x
=5xZ - 18x-35=0

= 5x% - 25x + 7x~-35=0

= 5x[x-5)+7[x-5)=0

= [x-5)[Sx+7)=0
=(x-5)=0 or [Sx+7)=0

= *x="5 or ><=i
5

Hence, 5 and —75are the roots of given equation
Question 29:

1|:o-:—é= 3=10x% -1=3x
=102 -3x-1=10
=10x% -GSk +2x-1=0
=ox(2x-1)+1{2x-1) =0
=(5x+1){2x-1)=0
=o0x+1=0 or 2x-1=0
-1

x
5

or x=

raf =

Hence, —15 and 12are the roots of given equation.

Question 30:
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i—é—:E:D

= X
Multiplying by x=
2-5x+2x7=00or 2% -5x+2=0
= %% —dx-x+2=0
or 2x{x—2)-1{x-2) =0

{(x-2){2x-1)=0
~ (€=2)=0 or 2%x-1=0

1

= N=2,x==
2

Hence, 2 and 12 are the roots of given equation.

Question 31:

abx® +{|:.E_ ac)x—bc=[ﬁl

= abx® +b%x - acx—bc =0
=bx(ax+b)-clax+b)=0
= fax+b}lbx-c)=0
[ax+b)=0 or [bx-c)=0
-b C
X=— 0r x==
a

b

Hence, —ba and cb are the roots of given equation.
Question 32:
Fbex? + % - Fx-1=0
:}I::uzx(azx + 1) - i{azx + 1) =0
= {a2><+ 1)(b2><— 1)= 0

= (52><+1}=D or (ng—1)=D
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Hence, —1a2 and 1b2are the roots of given equation.

Question 33:

12abx? - (ga’? - sz)x —6ab =10

= 12abx? - 9a%x + 8b%x - 6ab = 0
= Jax [dbx - 3a)+ 2b {dbx - 3a) = 0
= (dbx - 3a)(3ax+2b) =0
= (dbx-3a)=0 or {3ax+2b)=0
dbx = 33 or 3ax=-zb
b

K==, %=
b 3a

Hence, 3a4b and —-2b3a are the roots of given equation.
Question 34:

42 - 2(eP + bP)x+ &P = 0 = 4 - 2efx - b4 6% - 0
= 2x[2x- & |-b?[2x- &) = 0

=[2x- & ){2x-b%) -0

=(2x-&)=0 or [2x-b*]=0

&

bE
W= — OF ¥ = —
= =

Hence, a22 and b22are the roots of given equation.

Question 35:
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11 11 {x—?]—{x+4]=£
x+4 [x-7) 30 [(x+4)[x-7) 30
_x-7-x-4 11 -11 11

2 -3x-28 30 xZ-3x-28 30
= 11[x* - 3x - 28) = (30)(-11)

= x? - 3x - 28=-30

= %% -3x-284+30=0

= %% -3x+2=0

=% - 2x—x+2=0

= x{x-2]-1(x-2)=0
=[x-2)[(x-1)=0

(x-2)=0 or x-1=0

=2 o x=1

Hence, 2 and 1 are the roots of the given equation

Question 36:

; 1
{x-3] [x+5] &
(x+5)-(x-3) _1

= Tx=3)(x+5) &
N+5-x=3 =£
{x-3)(x+5) &
8 -1
:}xz—'bc—lﬁ_ﬁ

=2 +2x-15=48
=¥ +2%-15-48=0
=% +2%x-63=0
= 0% -Tx-63=0
= x(x+9)-7{x+9}=0
= {x+9)(x-7)=0
—>x+9=0 or x-7=0
Xx=-0 or x=7
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Hence, -9 and 7 are the roots of the given equation

Question 37:
(x-3) {x-3'b 55
{x=3) (x-3) 7

{x 3I2 x+312_43
{x+3){x-3) R
j{x2+9—ax]—{x2+9+axj_4a
{3+ 3)(x-3) EF R
—12x _ 48

Z-9 7
= —Bdx = 48x= — 432
= 48x% + Bdx-432 =0
=2+ Tx-36=0
= d4x®+ 16%x-9x-36=0
=dx{x+4)-9(x+4}=0
=  (4x-39){x+4)=0
dx—-9=0 ar x+4=0

x=E or x=-4
4

Hence, -4 and 94 are the roots of the given equation

Question 38:

c-equations/ uahons
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e +{2x—5]_§
[x-4) [x-3) 3
2x{x—3}+{2x—5}{x—4}=%

{><—4]{><—3] 3
j2x2—6x+2><2—8x—5><+2[]=§
%® — Ay - 3Bx+ 12 3

47 - 19%+20 25
¥ —Fw12 3
=3 4><E—19><+20)=25( 2 w412

= 12%% - 57x + 60 = 25x% — 175x + 300

= 12x% - 25x% —57x + 175x + 60- 300 = 0
= -13x" + 118x-240=10

= 13x% - 78x - 40% + 240 = 0
:}13><[><—6]—4D[><—6]=D

= [{13x - 40)[x -&) =0

13 -40=0 or x-&=0

><=@ o x=56
13

Hence 4013 and 6 are the roots of the given equation

Question 39:
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{><+3]_{1—><]_£

(x-2) x 4

x[><+3]—{1—><]{><—2]=£
x[x - 2) 4

2 I PR~
:}x + 3 {x 2 - +2><)=1?

%€ - 2x 4

:}x2+3><—><+2+><2—2><=£

%2 - D 4
:}2><:2+2=£
v 2w 4

= 8x% + 8= 17x% - 34dx

= 9x% - 34x -8 =0

= 9x? - 36x+2x-8=0
= W (x-4+2{x-4=0
=[x-4){Ix+2)=0

= x-4=0 o 9x+2=0

% =< or ><=_—2
2

Hence, 4 and —-29 are the roots of the given equation

Question 40:
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| 2 6
[ - 2) {x—l]_g
w—1l+2uw-4 &
(x-2)[x-1) *
L _3x-5 _6
¥ - Bx+2 X

= 3x% - 5x = 6x° — 18x + 12
=3x% - 6xZ - Sx+ 18x-12-=0
= -3x" +13x -12=0
=3x¢ - 13x+ 12=0

= 3x° - Ox-dx+12=0

= 3x[x-3)-4[x-3)=0
:‘,>{:><—3]{3:><—4]=D
=[{x-3]=0 or 3x-4=0

4
=3 = _
P or X = =

Hence, 3 and 43 are the roots of the given equation.

Question 41:

1 _hl= 8 :>:u:—.x—2= 8
x-2 x 2x+5  x(x-2) 2x+5
2({x—1) a :
of —————=—— = {x—1){2x+ 5) = dx{x-2)
®fx—2) D+5 ] 6 ; : 3

= %% - 2%+ Gk -5 = 4x - Bx

= T 43— 5= 4wT - Bx

=2x%-11x+5=0 or 2% -10x-x+5=0
= 2{x—-5)-1{x-5)=0 or {x-5)(2x-1)=0

1
= :nc=5,E

Hence, 5 and 12 are the roots of the given equation.
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Question 42:

Putting

=)
%+ 1 =Y

the given equation become

=y -5y+6=0
=y - By -2y +6=0
=yfy-3)-2{y-3)=0

[v-3)y-2)=0
y=-3=0 o y-2=0
V=23 0r yW=2
Case I:
%
=3 = =3
Y ¥+ 1
= 3x+ =% =3I —-x=-23
2w = —3
><—_3
=
Case ll:
y=2=_" -2
w4+ 1
X+ =H =N -x=-2
W= =2

Hence, —32 and -2 are the roots of the given equation
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Question 43:

-1 W4
2 -7 =5
[x+3] {x—i]

Putting

[x—l]_
4D -V

the given equation become

1

()

2y% -7 =Sy
=  2y°-5y-7=0
=S Tys 2y -7 =0
=y(2y-7)+1{2y-7)=0
=[{2y-7){y+1)=0

2y -7 =0 o yw+1=10

Case I:

7 x-1 7

=L = =L
LR
= w—-2= x+2]

5x=—23:~x=%

Case ll:
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-1
Y+ 3
=x-1=-x-3
= 2w =-2
=-1

Hence, -1 and —235 are the roots of the given equation
Question 44:
On putting

the given equation become

2y—§=5:>2y2—3=5y

=2 -5,-3=0
=27 - By+y-3=0
=2{y-3)+1{y-3)=0
={y-3){2v+1)=0

-1
=3 or = —
Y i 5

Case I:

2w =1
=
W43
=2x-1=2x+9
=% =-10

Case ll:
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= A e SR |
= =l
2 x+3 2
= 2{2x—-1)=-1{x+3)
=dxn-2=-x-3

:>5x=—1:>x=_?1

Hence, -10 and —15 are the roots of the given equation.
Question 45:

Putting

[4}<—3J_
1) "

the given equation become

y—i—f=3:>y2—1f:]=3y
=y -3y-10=0
=y?-Sy+2y-10=0
=vy[y-5)+2{y-5=0
=(y-5){y+2)=0
w=5=0 o v+2=0
w=05 or yw=-2

Case I:

- 3

C 54— 3 10x45
% 1 X o

W=5=

—Bx =8 =x=—
* > 3

Case ll:
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e — 3
|

1
Qv =] =% ==
Es x

y=-2= - 2= 4x-3=-dx-2

Hence, -1 and 18 are the roots of the given equation
Question 46:
The given equation
a b
-1 -1|=0
5 ()

{a :<+I::u] (b - x+a)
(% -b) [x - a)

oy

:,{a—><+b][{x by " [x- EJ i

= (om0 gy -

= [a- ><+|::u][2>< {a+|::u}] 0

=x=[a+b) or ><=M

Hence, (a+b) and (a+b)2 is the roots of the given equation

Question 47:

C- eguatlons/
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{axa—1]+[b><b— gy~ (a+bl. [“éé}

BTN S

{a—abx+b]+{a—abx+b]=
e T

1 1
::>[a—ab><+b][ax_1+bx_1}=0
= (a-abx+b)[x(b+a)-2]=0
= [a-abx+b)=0 or xfb+a)-2=0

a+hb 2
¥=__" or ¥

ab "o+ a)

Hence, at+bab and 2a+b are the roots of the given equation

Question 48:

CERE R S Ty
L TR 10

:>9y+$= 10 where 3° =y

=0y’ —10y+1=10
=T -Oy-y+1=0
=W y-1)-1{y-1)=0
=[9-1){y-1)=0

=9 -1=0 o yv-1=0

1
=y =_ o w=1
W 3 Y

e*ll IV\adl ©CI
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Hence, -2,0 are the roots of the given equation
Question 49:

4[><+lj| N 4|:1—><j| _ 10
Aal y AL a¥ 210
4y+$= 10 where 4" =y

4y® 10y + 4= 0
= e By -2+ d=0
=dyly-2)-2{y-2]=0
=[y-2)[4y-2)=0
w-2=0 or dy-2=10

== and y=

| B
P —

1
>
Incasel 4% 2= (2 =2x-1

W= O y=

=3

1
In case I 4% = % = (2] - [%J ~ (2 = 21t
W o= —

1
2

Hence, 12 and 12 are the roots of the given equation

Question 50:
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2% 3204+ 3o
P 3,227 432=0
we - 12v 4 32=0 where 2% = y
yo -8y -4y +32=0
vy -8)-4{y-8)=0
(v-8){y-4)=0
y-g=0o y-4=10
=58 o y=4
Fog=2 (2P =2x-=3
K 4= 2F =x-2

Hence, 3 and 2 are the roots of the given equation.
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About RS Aggarwal Class 10 Book

Investing in an R.S. Aggarwal book will never be of waste since you
can use the book to prepare for various competitive exams as well. RS
Aggarwal is one of the most prominent books with an endless number
of problems. R.S. Aggarwal's book very neatly explains every
derivation, formula, and question in a very consolidated manner. It
has tonnes of examples, practice questions, and solutions even for the
NCERT questions.

He was born on January 2, 1946 in a village of Delhi. He graduated
from Kirori Mal College, University of Delhi. After completing his
M.Sc. in Mathematics in 1969, he joined N.A.S. College, Meerut, as a
lecturer. In 1976, he was awarded a fellowship for 3 years and joined
the University of Delhi for his Ph.D. Thereafter, he was promoted as a
reader in N.A.S. College, Meerut. In 1999, he joined M.M.H. College,
Ghaziabad, as a reader and took voluntary retirement in 2003. He has
authored more than 75 titles ranging from Nursery to M. Sc. He has
also written books for competitive examinations right from the clerical
grade to the I.A.S. level.
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Frequently Asked Questions (FAQSs)

Why must I refer to the RS Aggarwal textbook?

RS Aggarwal is one of the most important reference books for high school grades
and is recommended to every high school student. The book covers every single
topic in detail. It goes in-depth and covers every single aspect of all the
mathematics topics and covers both theory and problem-solving. The book is true
of great help for every high school student. Solving a majority of the questions
from the book can help a lot in understanding topics in detail and in a manner
that is very simple to understand. Hence, as a high school student, you must
definitely dwell your hands on RS Aggarwal!

Why should you refer to RS Aggarwal textbook solutions on
Indcareer?

RS Aggarwal is a book that contains a few of the hardest questions of high school
mathematics. Solving them and teaching students how to solve questions of such
high difficulty is not the job of any neophyte. For solving such difficult questions
and more importantly, teaching the problem-solving methodology to students, an
expert teacher is mandatory!

Does IndCareer cover RS Aggarwal Textbook solutions for Class 6-12?

RS Aggarwal is available for grades 6 to 12 and hence our expert teachers have
formulated detailed solutions for all the questions of each edition of the textbook.
On our website, you'll be able to find solutions to the RS Aggarwal textbook right
from Class 6 to Class 12. You can head to the website and download these
solutions for free. All the solutions are available in PDF format and are free to
download!
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About IndCareer

IndCareer.com is a leading developer of online career guidance resources for the Indian
marketplace. Established in 2007, IndCareer.com is currently used by over thousands of
institutions across India, including schools, employment agencies, libraries, colleges
and universities.

IndCareer.com is designed to assist you in making the right career decision - a decision
that meets your unique interests and personality.

For any clarifications or questions you can write to info@indcareer.com
Postal Address

IndCareer.com
52, Shilpa Nagar,
Somalwada
Nagpur - 440015

Maharashtra, India

WhatsApp: +91 9561 204 888

Website: https://www.indcareer.com
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